Comment (#43 Page 132 L33)

TDL #115 D2.3.

Comment: In yseboodt_0117.pdf page 3 we adopt option 2 (generates 3 class event if
pse_avail_power=4). To add option 1 as option as well to allow 2 fingers and 3 fingers (Option 1 and 2)
and update the state machine accordingly to add to PSE flexibility.

Response:
Add TDL (Yair): Create proposal for option to allow 2 or 3 class fingers if pse_available_ power = 4.

Suggested Remedy
1. Add the following variable to 145.2.5.4

option_2ev
This variable indicates if VPSE is using 2 class events when available power=4 or choose the option to
generate 3 class events when available power=4.
Values:
FALSE: The PSE is not restricted to 2 class events when available power is 4.
TRUE: The PSE is restricted to 2 class events when available power is 4.

2. Make the following changes to Figure 145-13 Page 132.

-l—l £¥
I | o
CLASE EV2 I-q |I1'|t|_||l11i:"'_d\:|l1I:'| 1]
= tcle2_timer_done *(pd_class_sig = 4) *((pse_avail_pwr >4)+ 1z
dix_class Hication . N
start icked_timer option 2ev) 33
P _alloeabed_pwr = 4 FRrECT— IO E——— 1
7 : 32
> tdel timer_done ® (pd_class_sig £ 4} v 16
tcle2_timer_done * ¥ MARK_EVZ 37

1 i IDLE do_mark 1
.Optlon_Z?V I: ] slart tme=1_times ;El‘
* pse_avail_pwr =4 i
*pd_class_sig =4 i _timeer_done 40
CLABS_EV3 e e
dix_class Mication :

star icked_times — MARK_EV3 43

¥ r 4 Cle=d hmer done ®
p—= | pea_allemaing = both * fo_mark p
' lipd_class_sig#4 " slan s _times ) 4%
toiwd_timer_done poe il _pewt = pd_dlass_sigeS)+ | pd_reg_pwr = pd_class_sig+G 4
frs_arei|_pawr = 5) terfip_var = p_clhes_sig
47
_sig = 0" pse_avail_pwr = 5} tre= 1 _timesr_dane +*
_himer_ 40
MARE_EWV_LAST

i

tcle3_timer_done *
(pse_alternative # both +pd_class_sig = 4 + option_2ev*pse_avail_pwr = 4 +(pd_class_sig > 0 * pse_avail_pwr = 5))

TDL#115 D2.3. Optional_2_events_power when pse_avail_power=4. Yair Darshan May 2017 Rev001. Page1of1

0



